| MATHEMATICS (SCIENCE GROUP) PAPER-Il  GROUPY | o o/ | gy (pfie)
| TIME ALLOWED: 2.10 Hours 2210 = oy
AMATILTE MAERS ol | SUBJECTIVE A5 e =AN

INOTE: Write ganse quiestion number and its parts namber on answer book, as given io the quéstion paper. f&hmfxl&ﬁm}ﬁww-u’

SECTION-I .o

2 Attempt any six parts. | 12=2 x6’ | _#:Q;‘&um,{,._b[{ 220
| () |Define radical equation. h £y A fetiagiz | O
f (i) | Convert 3% —6x = x+20 into two linear equations. | b AUt Lof 3%t =6x=x+20] (i) |
(i) | Solve by factorization. 2x*—5x-3=0 25t —~ ‘ix ‘i 0_Zlsf 2| (D
(iv) | When a polynomual is divided by x+1 we have P oy TRy , x4+ 1 M 2 £ (iv)
quotient x” —x* and remainder 15. Find the P g b .
polynomial. Er o enles ot 2 —x
(v) | Find the discriminant 4x* —7x-2=0 o P =0.- ey o )
L) | Pt 4 7 = Gee Mx+my)(x+a’y) x4y = (x4 ) (x +a.ry}(x+w v) —" «:T{ccf o) |
(vii) | How Jomt variation is formed? ¢ ?_p.___").‘a:-_fj: ”(“\-:ii)
(Vill) | Iind the value of p.if the ratios 2p+5:3p+4 1| %:4.m0 P45 : 3pra i e ndf p | O
and 3:4 are equal. {
L e : =iz |
(ix) | Find 2 mean proportional between 9p°q°, »* L 9pqt, #° _.af;gi-‘_,awrup, - (ix)
3, Attempt any six parts. 12=2x6 -Mﬂ"?ﬁ*—"-‘z’f“—df 3/)‘1,,,
; _(i} Dcfinc a partial fraction. Eafl | @
(i) - 3 Zne i 315y {ii)
- Convert the fraction 6—2;:51_16 iﬁtn pm]-fer _l}:gcﬁon. .-é‘gifut /‘;au.i"" §§;;_S xx—16
(i) . y=z* 7=0",thenfind ¥NT | R YNT Inv=2" . T=0" S| (D
(V) VIf 4egs, 2,83 B={2,4.5,68) thenfind A--B. | I B={24.56,8) b (42,34, |
L g iz b -hr“h'A B L
(v) | Define one-one function: el & <ty Mo | )
(vi} | Find @ and 5 If (2a+5,3)=(7, 6-4) g :-,(2a+3 3)=(7,b-4) Sigetbma | VD |
: (vi) | Define 4 frequency distribution. ¥ wif ij | b |
| (viii) | Find arithmetic mean for the data. e g Hsendovay | O
' 12, 14,17, 20, 24, 29, 35,45 12, 14,17, 20, 24, 29, 35, 45
| (ix) | On 5 term tests in mathematics, a student has | A ok bl kel iy | X
made marks 82, 93, $6, 92 and 79. Find the | *7 D el S i, 1
St o P iertiion: L ek LA 190 002 36 93 82 i
L d. Attempt ix parts. 12=2 x6
M, oo b - N ______*___l N B e R
(1) | Define arms and verfex of an angle. E B A LA AL g3 (i)
(ii) | Find @, when €=4.5m, r=2.5-m.. T o r—2 Smmf 4.5m Lges B (i)
(i) - tanx tanx | ()
Simplify e
o secx secx i
{iv) | Express 6.1 radians into deg,ree LS ALENT6] b (iv)
(v) | Define chord of the circle. - o B G L] O
| (vi) | Define tangent line. gk g }’UUU . (vi) .
" (vii) | Define circum-angle. s d;sb s C(vil)
| (viil) | Define the ascribed circle. LGl | VD
(ix) | The length of the side of a regular pentagon is Ce S oS u{V U’Eﬁl" ‘_,_-rv_)' ‘pa £ (ix)

| Sem. Wha is its perimeter?
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SECTION-II  ¢o.e i
NOTE: | Attempt any three questions but Md’mé‘,w,ﬁfé‘jﬂ; i
| question No.9 is compulsory. 24 =83
| ] B 9 A | _
5.(A) | Solve the equation. 2x' —11x*+5 =10 } 26 =117 45 = 0-g S Funl | (D5
(B) | If &, are the roots of the equation oSl Axt =5x+6=02is fea A | 6
1 L3 2 2 ) 2 z
4x? —5x+6=0 then find the value of _a_+£__ hér:”"-:prdja—+£*i
# TR e
6(A) | Find x in the proportion | & s 3 5 x-1, 4 ._ft' N6 |
| l;:'l_s__x_—]'j_ 2 x=l 3 x+4
2 Tx-17 3 x+4 g |
g 3
(B) Resolve into partial fraction. __izﬁ_._ __‘__2___ 'f;,}:.J"’J,ﬁ UGz )
(x+2) (5°+4) (x+2)(x" +4)

J— N _ A
7A) |1 1r=(1.2,3,4,56.7.8,9,10}, , U=£1,234.5678910}0] (07
A={1,3,5,7,9} , B={2,3,5, 7} then verify | e b7B={2,3,5. 7} 4={1,3,5.7,9} |

: (ANBY = AUB (ANBY = £LUB u/
|
(B) | Find standard deviation. LR A (<)
12,6,7, 1f [0, 1j§ 3 12,6, % 15, 10,18, 5
8.A) f:i_nd- the vg}};cé-;ﬁf /HS " ﬁs Ju«‘fJgf‘,ﬂ_uL‘E,l?iJFﬁrd;
| trigonomeiric g0 !
function at the indicated angle Iy y UG | ()8
& in the right triangle.
(B) |Inscribea circle in an equilateral triangle Lo Bt catts ¥ § ABC BBLURS A
' AABC with each side of length Scm. . ” 2
with each side of length 5cm s 6'r’l.5‘6b %
3 Prove that petpendicular from the centre o b;,:a;:u(_;, s ﬁ,{ s ,:: oS et 9
of 2 circle on a chord bisect it. ' '
OR L
The measure of  central angle of & MINOT | 1§ sy 205 ot P ev AU s’
arc of a circle is double that of the angle i ot
subtended by the corresponding major arc. —- A e BT AT
-
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